Penthouse in Mosta



Mosta, Central



€510,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): 134

Reference No: 240011179-40

P☐ Bedrooms: 2

Penthouse - For Sale - Mosta

A beautifully finished freehold penthouse located in the sought-after area of Mosta, offering 2 bedrooms and 2 bathrooms together with a spacious open-plan kitchen, living, and dining area leading onto a wraparound terrace ideal for outdoor entertaining and relaxation. This property is being sold fully furnished and has full ownership of airspace, providing potential for future development. Combining comfort, style, and practicality, this ready-to-move-into home is a fantastic opportunity for those seeking modern living in a central and well-connected location. Optional 1 car garage available. For more information contact our agent.

Features

- ✓ Lift
- En Suite
- ✓ Water Utility
- Soffit Ceilings
- PVC Piping
- Skirting
- Terrace

- ✓ Kitchen/Dinette
- Entrance Hall
- Electricity Utility
- Gypsum Plastering
- ✓ A/C
- Double Glazed

Rooms

- Kitchen/Living/Dining: 4.67 x 10.82 m (50.53 m2)
- Double Bedroom: 5.76 x 3.58 m (20.62 m2)
- ✓ Double Bedroom : 4.5 x 2.39 m (10.76 m2)
- ✓ Hallway: 1.03 x 2.68 m (2.76 m2)
- Bathroom: 1.1 x 3.23 m (3.55 m2)
- ✓ Bathroom Ensuite : 1.56 x 2.51 m (3.92 m2)
- Open Space : 15.03 x 3 m (45.09 m2)

Gallery























Stephanie Briffa RE/MAX Premium - St Julian's

M: 79842871

E: stephanie@remax.com.mt

T: 21384508

RE/MAX Premium - St Julian's 72/73,Gorg Borg Olivier Street, St Julian's, Malta